

12/28/2022 09:00 AM | install 12/29/2022 09:00 AM | drive back to LA 01/03/2023 09:00 AM | strike PO: Shipping Address: Rosewood Miramar 1759 S Jameson Ln. Montecito, CA 93108 MERRYL BROWN EVENTS LLC.

Â Â, Â

Invoice Date:

Due Date: Upon Receipt

Salesperson: Leigh Carter

	Montecito, CA 93108				
Description		Qtty	Price		Total
General					
	Perimeter Drape - 125'Wx20'H for entire stage wall and to cover 10' of opposite wall; grey two-tone chiffon with backing	1	\$2,750.00	Т	\$2,750.00
	Perimeter Valance - 125'Lx16"H silver dupioni	1	\$500.00	Т	\$500.00
	Small Dining Tables - Madrid - Gold Leaf Hexagonal Base 54" auction tables	2	\$360.00	Т	\$720.00
	Small Dining Tables - Monaco - Brass Sit Down	2	\$250.00	Т	\$500.00
			Total Gen	eral	\$4,470.00
FOUNDERS - 1					
	Sofas - Segovia - White W/ Brass Base	2	\$400.00	Т	\$800.00
	Coffee Tables - Moscow - Oval Mirror Top W/ Gold Frame	2	\$225.00	Т	\$450.00
	Barback - Bora Bora - Gold (3 Piece Set)	2	\$175.00	Т	\$350.00
	Accent Table - Madrid - Fuji Marble Top	4	\$100.00	Т	\$400.00
	Club & Lounge Chairs - Segovia - Accent Chair White	4	\$250.00	Т	\$1,000.00
H	Club & Lounge Chairs - Tokyo - Accent Chair White W/ Gold	4	\$45.00	Т	\$180.00

Description		Qtty	Price		Total
	Ottomans - Hollywood - White W/ Brass Base	2	\$30.00	Т	\$60.00
	Small Dining Tables - Madrid - Gold Leaf Hexagonal Base 54"	1	\$360.00	Т	\$360.00
	Accent Pillows	8	\$17.00	Т	\$136.00
			Total FOUNDERS	S - 1	\$3,736.00
AMBASSADORS	-1				
	Sofas - Segovia - White W/ Brass Base	2	\$400.00	T	\$800.00
	Club & Lounge Chairs - Jaipur - Channeled Off White Boucle W/ Gold Base	4	\$200.00	Т	\$800.00
	Coffee Tables - Moscow - Mirror Top W/ Gold Frame	2	\$200.00	T	\$400.00
	Accent Table - Madrid - Kalmar Marble Top	2	\$100.00	Т	\$200.00
	Serving & Display Carts - Naples - Gold Cross Serving Cart	4	\$140.00	Т	\$560.00
	Ottomans - Hollywood - White W/ Brass Base	4	\$30.00	Т	\$120.00
	Accent Pillows	8	\$17.00	Т	\$136.00
The second secon	Communal Tables - Nice - Mirror Top W/ Gold Frame	1	\$180.00	Т	\$180.00
		Total	Total AMBASSADORS - 1		\$3,196.00
MIRAMAR - 2					
There	Sofas - Dubai - White Boucle 8'	2	\$300.00	Т	\$600.00
	Club & Lounge Chairs - Dubai - Club Chair White Boucle	4	\$155.00	Т	\$620.00

Description		Qtty	Price		Total
	Club & Lounge Chairs - Rome - Off White Boucle Channeled	4	\$250.00	T	\$1,000.00
	Coffee Tables - Madrid - 3pc Set	2	\$195.00	T	\$390.00
A	Accent Table - Madrid - Fuji Marble Top	4	\$100.00	Т	\$400.00
	Accent Pillows	8	\$17.00	Т	\$136.00
	Ottomans - Standard Pod Ottoman Cover - Off White Boucle	4	\$30.00	Т	\$120.00
The state of the s	Communal Tables - Nice - Mirror Top W/ Gold Frame	2	\$180.00	Т	\$360.00
			Total MIRAMAR	2 - 2	\$3,626.00
GROVE - 4					
	Booths - Monaco - Round White Suede Thick 2pc Set	4	\$500.00	Т	\$2,000.00
	Small Dining Tables - Oslo - Bistro Table Brass W/ Marble Top	4	\$200.00	Т	\$800.00
			Total GROVE	- 4	\$2,800.00
PALISADES - 8					
	Small Dining Tables - Monaco - Brass Sit Down	8	\$250.00	Т	\$2,000.00
	Dining Chairs - Frankfurt - Channeled Boucle Round - Off White	16	\$25.00	Т	\$400.00
			Total PALISADES	S - 8	\$2,400.00
BALLROOM BAR	es .				
	Bar Drape - 80'Wx10'H grey two-tone chiffon with backing	1	\$1,120.00	Т	\$1,120.00
	Bar Valance - 80'Wx12"H silver dupioni	1	\$320.00	Т	\$320.00

Description		Qtty	Price		Total
	Barback - Tokyo - Straight Basic 6' - Metal silver	4	\$240.00	T	\$960.00
	Bars - Boston - Straight Folding 8' white with silver trim	4	\$800.00	Т	\$3,200.00
	Sconces - Paris - Antique Silver	4	\$150.00	Т	\$600.00
		То	tal BALLROOM B	ARS	\$6,200.00
OPEN SEATING					
	Banquettes - Monaco - Straight White Channeled W/ Skirt 6'	4	\$250.00	Т	\$1,000.00
	Accent Table - Madrid - Portrack Marble Top	4	\$100.00	Т	\$400.00
	Accent Table - Madrid - Het Lo Marble Top	2	\$100.00	Т	\$200.00
	Accent Pillows	8	\$17.00	Т	\$136.00
			Total OPEN SEAT	ING	\$1,736.00
OUTSIDE BARS					
	Buffets & Display Tables - Boston - Buffet White 12' for luge; white with gold trim	1	\$650.00	T	\$650.00
	Barback - Bora Bora - Gold (3 Piece Set)	2	\$175.00	Т	\$350.00
	Buffets & Display Tables - Boston - Buffet White 8' for oyster; white with gold trim	1	\$530.00	Т	\$530.00
	Bars - London - W/ Framed Mirror Wood 8' white with gold trim	2	\$800.00	Т	\$1,600.00
	Barback - Tokyo - Straight Basic 6' - Metal gold	2	\$240.00	Т	\$480.00
			Total OUTSIDE B	ARS	\$3,610.00
OUTSIDE SEATIN	NG				

Description		Qtty	Price		Total
	Banquettes - Monaco - Straight White Channeled W/ Skirt 6'	4	\$250.00	Т	\$1,000.00
	Coffee Tables - Moscow - Mirror Top W/ Gold Frame	2	\$200.00	T	\$400.00
	Accent Table - Madrid - Fuji Mirror Top	2	\$100.00	Т	\$200.00
	Accent Table - Madrid - Giusti Glass Top	4	\$100.00	Т	\$400.00
	Ottomans - Standard Pod	8	\$30.00	Т	\$240.00
	Accent Pillows	10	\$17.00	Т	\$170.00
		Total	OUTSIDE SEAT	ING	\$2,410.00
CHECK-IN					
The second secon	Communal Tables - Nice - Mirror Top W/ Gold Frame	2	\$180.00	Т	\$360.00
	Barstools - Buenos Aires - Gold	4	\$20.00	Т	\$80.00
			Total CHEC	K-IN	\$440.00
STAGE					
	FOH Drape - 30'Wx4'H grey two-tone chiffon with backing; layer of chiffon, layer of backing, layer of chiffon	1	\$225.00	Т	\$225.00
	Stage Fronts - Boston - W/ Mirror 8'x28" white with gold trim	7	\$200.00	Т	\$1,400.00
	Stage Fronts - Boston - With Mirror - 4'x28" white with gold trim	1	\$150.00	Т	\$150.00
	Dj Front - Boston - Wood & Mirror Front white with gold trim	1	\$500.00	T	\$500.00
			Total STA	AGE	\$2,275.00
Services					
	per diem	9	\$74.00		\$666.00

Description	Qtty	Price	Total
hotel room (provided by client)	4	\$0.00	\$0.00
installers for install 12/28	8	\$600.00	\$4,800.00
installers to drive back 12/29	8	\$350.00	\$2,800.00
installers for strike 1/3	8	\$600.00	\$4,800.00
trucking	6	\$650.00 T	\$3,900.00
supervisor onsite	1	\$1,500.00	\$1,500.00
pre-production/design/floorplan	1	\$800.00	\$800.00
Please make checks payable to Revelry, Inc.		Total Products:	\$36,899.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full	Total Labor/Services/Misc:		\$19,266.00
Please ready the contract and sign it		Taxes:	\$3,875.91
Notes	Discounts:		(\$0.00)
Notes		Total:	\$60,040.91
		Payments:	(\$0.00)
		Balance:	\$60,040.91